fyra brak, decimaler, ordningsfoljd med parenteser

namn: Datum: Poéng:

(3.3-2,6)x5-2,5= NN
(2 3) 3
1 1

2,9-22,9- )= 5 < 16+4-43,2-3,3) =

1 1 1 2
12(= —4,5)+3x 2+ = = 12(= +3,2)+ - Z=

1 1

(3,4+§)><3+2,3= 4(3,2—§)+2><5—4,3=
3 1 2
Z+5=—-2)= 4,6+ 2)x4+2,3=
2 ( 3) (9 3) 9
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fyra brak, decimaler, ordningsfoljd med parenteser

namn:

(3,3-2,6)x5-2,5=1

1 12 2
2, 9 - 2(2,9_ Z) - (_?) — (_25)

1 1 497
12(3 4.5 =3 %2+

27 1
13-
2

(3,4+%)><3+2,3

(USEEEN|
W =

3 - (_F) =(=33-2)

Datum:

1:
3

I 2
6(= — =) =3 x2+
G-3

1
5% 16+4-4(3,2-3,3)

2 1
12(= +3,2) =3 x5
= (3 +3.2)%3x%5

1
43,2-5)+2x5-43 =

(4,6+§)><4+2,3
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